
Mole Problem Project
Problem 1:  A mole of Big Macs (stacked on top of each other) would make how many 
stacks if each stack reached from the earth to the moon?

I need to know the following to solve this problem:
1.  The height of 1 Big Mac

Answer:  I bought a Big Mac and measured the height.  It was 6.51cm.

2.  The distance from the earth to the moon.  
Answer:  382,260 km
www.freemars.org/jeff/planets/Luna/Luna.htm

Solving the problem:
? stacks 

6.022X1023 Big Macs    6.51 cm        1 km         1 stack (distance from earth to moon) 
      1      1 Big Mac     100,000 cm        382,260 km

       = 1.026 x 10 14 stacks
10,260,000,000,000 stacks

Distance from earth to moon = 382,260 km
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